
RAM® GUN HOLSTER BRACKET ASSEMBLY GUIDE

2. SLIDE (A) BRACKET CLIP THROUGH BELT INSERT ON HOLSTER.

C. #10-24 BLACK THIN STAINLESS STEEL NYLOCK NUT (QTY. 3)

B. #10-24 X ½ BLACK PHILIPS DRIVE STEEL MACH. SCREW (QTY. 3)

D. 1/4”-20 X ½” BLACK CARRIAGE BOLT (QTY. 1) 

Parts Index
A . RAM HANDGUN HOLSTER BRACKET CLIP (QTY. 1)

E. 1/4”-20 BLACK STEEL WING NUT (QTY. 1) 

A

B

C

D

E

 BALL BASE MAY NOT BE INCLUDED 

3. INSERT (D) CARRIAGE BOLT FROM UNDER BRACKET CLIP THROUGH BOTH SQUARE HOLES. 
PRESS ENDS OF BRACKET TOGETHER AND TIGHTEN (E) WINGNUT ONTO (D) CARRIAGE BOLT. 

B

C

A

D
E

HOLSTER NOT INCLUDED 

RMR-INS-GUN1 

1. REMOVE CIGARETTE LIGHTER PORTION OF EXTERNAL POWER 
SUPPLY USING WIRE CUTTERS.

2. STRIP INSULATION TO DESIRED LENGTH.

CIGARETTE LIGHTER ADAPTER

BARE WIRE LEADS

RMR-INS-EXTR

3. STRIP POSITIVE LEAD TO DESIRED LENGTH.

Please ensure that the in-line power conversion box is adequately secured to prevent movement 
about the cab of the vehicle or similar installation environment. Be mindful to ensure it is located 
out of common ingress/egress areas as to avoid tangling with the end user. Please use all cable 

retention features supplied with this product, and use best practices in wire routing to avoid 
damage to the mount or mounted device. Not following these instructions may void your warranty.

RAM Mounting Systems
8410 Dallas Ave S
Seattle, WA 98108
Phone: (206) 763-8361
Fax: (206) 763-9615
www.rammount.com
support@rammount.com 

LIFETIME WARRANTY FOR ALL  MOUNTING COMPONENTS.
THREE YEAR WARRANTY ON ALL INTERNAL ELECTRONICS.

The exclusive NPI Lifetime Warranty states that all RAM mounting components and parts are warranted 
against defects in materials and workmanship for the life of the component or part. NPI’s Lifetime 

Warranty covers the mount or its components only. The mounted device is not covered under the Lifetime 
Warranty and will not be replaced if damaged as a result of mount failure. This warranty is expressly 

limited to the persons in the United States, and all foreign countries who purchase RAM for resale or use 
in the ordinary course of the buyer’s business. This warranty does not cover any component or part that 
has been abused, worn out, heated, ground or otherwise altered, used for a purpose other than that for 

which it was intended, or used in a manner inconsistent with any instructions regarding it’s use.

1. ATTACH BALL BASE TO BACK OF (A) BRACKET CLIP USING (B) 
    SCREWS AND (C) NUTS.


	Page 1

